



Name: _____

Datum: _____ Ergebnis: _____

$$\left(-\frac{3}{5}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{6}\right) - \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{4} =$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^3 + \frac{3}{4} =$$

$$\left(\frac{3}{4}\right) + \frac{3}{4} =$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{4}\right) - \frac{1}{5} =$$

$$\left(-\frac{1}{3}\right) + \frac{1}{3} =$$

$$\left(\frac{3}{4}\right)^3 + \frac{3}{5} =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right) - \frac{3}{4} =$$



Name: _____

Datum: _____ Ergebnis: _____

$$\left(-\frac{3}{5}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{1}{4}\right) = \frac{55}{216}$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{3} = \frac{43}{48}$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{9}{100}\right)$$

$$\left(-\frac{1}{6}\right) - \frac{2}{5} = \left(-\frac{17}{30}\right)$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) = \frac{14}{45}$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{643}{1080}\right)$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{3}{5}\right) = \frac{113}{180}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{4} = \frac{1}{2}$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{2} = \left(-\frac{29}{54}\right)$$

$$\left(\frac{2}{5}\right)^3 + \frac{3}{4} = \frac{407}{500}$$

$$\left(\frac{3}{4}\right) + \frac{3}{4} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{3}{5}\right) = \frac{197}{320}$$

$$\left(-\frac{3}{4}\right) - \frac{1}{5} = \left(-\frac{19}{20}\right)$$

$$\left(-\frac{1}{3}\right) + \frac{1}{3} = 0$$

$$\left(\frac{3}{4}\right)^3 + \frac{3}{5} = \frac{327}{320} = 1\frac{7}{320}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{163}{216}\right)$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{23}{50}\right)$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{59}{320}\right)$$

$$\left(\frac{1}{2}\right) - \frac{3}{4} = \left(-\frac{1}{4}\right)$$